NP20NINN PRNDIN
%9 NNIY 12

929N

(a+ b)2=a? + 2ab + b2 . (a—b)-(a+tby=a?—1b? 19990 NINNDI
x|, = —b+ Vzl;z A ymun , (@ F0) axiEbxFc=0 92 axnwn
SPVIVIN NIVIIND

m = % D Xy y Y ) (X, y) TP TIT W0 W Y m v
y—y =mX-—xp) ( (X, yp NP NWN y =mx+b W DRNIWN
0PN B(Xy, ¥, TV A(x), y) DN YMSPY YOP YSHNR NTIP) DY DINYW
d=/0—x)2+ (= yp? B, ,y) ) A, y) MNP pa d pnann

NIVYN NITO

a,=a +m—-1)d 1 V1IN

n-(a +a)
n 2

n-[2a;+d-(n—1)]
S = 5

:0100




N20VNINN N2V

SN WOIVNA NIPIVMNNIV NPEPND

o= A _b _a
silmo, =, coso=-_ tan(x—b mé
aN”)
a
o
b 2%
aZ+b2=c2  .oMmmo vawn
£ MNY
g— yoN nnmbz N2 -YON YWD NOW
(c =9 b PanxwIN MMN — ) S= % -b.c-sina WOWN NLY
(a yox2 Nan — h) S=a-h :123pNn NLY
mMIANYN NPPYLY°VLLY
X fi +x,f, + ... +x f
vy o, y B, £ dwny, x="11 722 *n'n 1899

CN=f+6+. 4+ 7 RN X, e, Xy, X Y





